MODEL QUESTION

i
SET —I1 Interme#iate (XII)
Accountancy |
(Class XIIth ‘
Tine - 3 Hrs. Full Marks - 80
lass Mark 26
ALL QUESTIONS ARE COMPULSORY W 39 ifanf 2| ‘
Candidates are required to give their answers in their own words as for as practid‘ able.
Temeff e e weet A & sav T
Figures in the margin indicate full marks. 3UTqd & & quiie fiffe s &) |
GENERAL INSTRUCTIONS : 9THT ] |‘>'|é?T :
(1) This question paper contains two parts A and B I8 W94 99 &I 91} f 3R 9 H fawfoad 2|
(i) All parts of question should be attempted at one place.
SHI T 31 Td g W el & fo sifard &
(iii) All Parts of question should be attempted at one place.

|98

febiy o 9T FT W SR U & e W T
: Part— A
3MI--g Gl Bl & — (Income and expenditure Account is)
(i) SIIdaTe T (Personal Account) (ii) CIESIEEREIn (Real Account)
(iii) AT GIdT  (Nominal Account) (iv) 3?‘}[ q aﬁs‘ ol (None of these) |

SRR TE & ona ¥ WRER] B ol W @ R SR |

(In the absence of Partnership deed, interest on capital will be given to partn
(i) 8 % aAMNEH (8 % p.a) (ii) 6 % TND (6 % p.a)
(iii)9 % AMEH (9% p.a) (iv) 371 ¥ BI T8 (None of these)

T R ZR @I o fore e T R e TR g F o

(In which ratio, the cash brought in for goodwill by the new partner is shared
partners.) :

(i) @IS 3T (Profit sharing ratio) (i) ofi—3FU  (Capital ratio) |
(i) TN & 3T §  (Sacrificing ratio ) (iv) 3T 9 BIg 78 (None of the

X, Y T 2 W4 b AR 8 RorTesr Ami—fvier seurd e 1,/2, 1,/3 T 1
B GRAT & R IHRN R X M Z R 24 F formm Wer & | ¢ o qam
(XY and Z are partners in a firm sharing, profit in the ratio of %, 1/3 and 1/6

r's at )

(SIS

by existing

€)

88 Y TP
|

respectively,

Y retires and his share is divided between X and Z in the ratio of 2:1. Find gut new profit

sharing ratio.) 1
1

(i) 911 (i) 21 (i) 135 (iv) 12

AT 3PN 1] & — (Equity share holders are)

(i) UEH (Customer) (i) AER  (Creditors) |
(iii) STGR  (Debtors ) (iv) @M (Owners) |

\
FOUH W @A BT & — ( Debenture carries interest is ) |
(i) 12 % af¥® (12 % p.a) (i) M9 & (Fixed rate) }
(iii) 6 % VB (6 % p.a ) (iv) 20 % AIVH (20 % p.a)
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10.
1.

= faaRon & 9 2015 & forw g1 | Mg &I 7T BN |

(Comipute the income from subscription for the year 2015 from the followmg

Items (<) 01.04.2016  31.04.20

Rs. Rs. |

3T T (Out standing subscriptions) 19,300 18.000
3| F=T (Advance subscription) 13,400 14,100;

T¥ 2016—17 B SRF UG dv<l W0 31,400 /— 2 | |
(Subscription received during 2016-17 is Rs. 31,400.)

particulars)
-

gHar fo, éﬁo3oqﬁfmﬁummwwoswmﬁaﬂﬁmﬁo 100| TR AT 800 3

RIFCT 3@ BT EROT @R fordm | S Sfl W W0 20 WfRT Y e A Y A
ﬂs‘eﬁlmmwmﬁﬁﬁmosrshafmoswﬁqﬁfma%a?ﬁtm‘w
feam ran | s foro 1 Gl § SWE o <A @ forg aravad romrE gfafedt
(Samta Ltd. forfeited 800 equity shares of Rs. 100 each for the non- payment

Rs. 30 per share. The final call of Rs. 20 per share was not yet made. Out q
shares 400 were reissued at the rate of Rs. 105 per share fully paid up.)

Pass necessary journal entries in the books of Samta Ltd. for the above trahsactions.

B T R 3

AP 10 7 I R 7 W WO 2,20,000 /— BT BeETaR @ET | AR B 50%
e B fafe fod @ whefa o fhar T @ 99 @ v el A BeiRR A1
100W$9%Wm10%a®amwﬁwml

1 T T8l @l
I e v
IT BT |
of first call of
f the forfeited

P M W %0

WWH%WW%{OH%WﬁWWWFWI
Deepak Ltd. purchased furniture Rs. 2,20,000 from Ranchi Furniture Mart. 50

amount was paid to furniture Mart by accepting a bill of exchange and for ]
company issued 9% debentures of Rs. 100 each at a premium of 10%
Furniture Mart.

Pass necessary Journal entries in the books of Deepak Ltd. for the above f

39 U9 RUUH H IR 9138 | Distinguish between share and Debenture.

% lof the
ne balance the
in favour of

ansactions.

AR T NI U B H R O @ 73 D O § am R wea ¢ S )

Joll 7 UaR ot HAR W0 9,00,000 T TS, 4,00,000/— | WIS Ford
YTEr o7 @ifhe SUYe B & 5y e & af & forg o b foerer o e

Kumar and Raja were Partner in the firm sharing profits in the ratio of 7
capitals were Kumar, Rs. 900000 and Raja Rs. 400000. The partnership dee

the following but the profit for the year was distributed without providing for:

(1) ‘I\?ﬁ R &S 9% Ui 9§ @ X ¥ Interest on capital @ 9% per annum.

(i) FAR BT 90 WO 50,000 Hfrqy TAT T BT I w0 3,000 HY HE  (Kumar]

50,000 per year and Raja’s Salary Rs. 3000 per month) 31.03.2017 &I T [

AT %R0 278000 T | FHIAIGT YT ST | The profit for the year ended 31.03.
278000. Pass adjustment entry.

P,QUd R TP BH H WISER & T 221 & IUIT # A dfed o | BH e
e Pl 98 IRl o o offow @rdl & §99 & A AR B Ger P Bl g

fe=ferfad &r
T |

B. Their fixed

l provided for

s salary Rs.

¥ & forw
7017 was Rs.

fﬁﬂ% yftrad 31 5

i RIS

ﬁ%ﬁmﬁaﬁwﬁwwﬁogoooo%mWIWwﬁma%ﬂa}Wwa%am

H9Y & a4 H UG 3 BH & e IR a8 B AT A B AR WA b2
IR qu1 $T AW T4 JE5R o -

D

T ST | fwe




13.

™0

31.03.2018 BT FATE §Y a¥ B forw 2,00,000
31.03.2017 B! THIS Y a¥ & forw 1,80,000
31.03.2016 P! FAIG gV a¥ & fory 2,10,000
31.03.2015 B! FATE §Y q¥ B forg 1,70,000 (gT)

P Y & Y IS WM B N T AN B AW B oI awd o raedt DR |

AWM HP D R & oW B U W g9 |

P. Q and R were Partners in a firm sharing profit in 2:2:1 ratio. The firm clbses its books
on 31 March every year. P died three months after the last accounts were prepared. On that
date the goodwill of the firm was valued at Rs. 90,000. On the death of a paftner his share
of profit in the year of death was to be calculated on the basis of average praffits of the last

four years. The Profits of last four years were :

Rs.
Year ended 31.03.2018 200000
Year ended 31.03.2017 180000
Year ended 31.03.2016 210000
Year ended 31.03.2015 170000 (Loss)

Pass necessary journal entries for the treatment of goodwill and P’s share of profit on

his death. Show clearly the calculation of P’s share of profit.

31.12.2017ﬁw$ﬁ$mmmwmmwwwfrﬁﬁﬁ%—
nded

(Following is the Receipt and Payment of Indian Sports Club for the year e
31.12.2017.

Receipt Amount Payment Amount (Rs)
(Rs)

$T9 3T /31 (To Balance b/d) 10,000 By. 4 (Salary 15,000

EH ( To Subscriptions) 52,000 By. ﬁm é_ek_*[ 20,000
(Billiards Table)

9T J[eh (To Entrance fees) 5,000 By. IR RG] (Office 6.000
Expenses)

@1;1?!2\_6{ 41 (To Tournament 26,000 By. @Tvl'ctz\_c{ G| 31,000

Fund) (Tournament Expenses)

W ARG B Al | 1,000 By. @(_"I_CQ\_C{ YUXPY (Sports 40,000

q U Equipments)

(To Sale of old news paper)

JEId (To Legacies) | 37,000 By. Iy 3T / 3T (Balance b/d) 19,000

1,31,000 1,31,000

31.12.2017 1 ST QM O 2000 T 31.12.2016 BT HO 3000 T | (On 31.12.201"
outstanding was Rs. 2000 and on 31.12.2016 Rs. 3000.) 31.122017 &I e dq
(Salary outstanding on 31-12-2016 was Rs. 1500) 01.01.2016 ! T4 & UK

subscription
[ 0 1500 2T |
X0 75,000 6T

WA, 0 18000 BT BeieR 0 30000 & 12 Hfererd fAfFanT qem 0 30000 B Welphs IUR o |

3
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(On 01.01.2016 the Club had building Rs. 75,000, Furniture Rs. 18,000, 12
Rs. 30,000 an sports equipment Rs. 30,000) 39 W&l W HY B T3 Ha 3
AU o7 TAT| (Depreciation Charged on these items including purcha

% investment
ifed 10 gfrerd

ses was| 10%)

31122016 & folU M-y @I &4 | Prepare Income and Expenditure A/C o 31.12.2016.

31 AG, 2017 BT P, Q T R TN A8 BT 224 & Iqrd § fawire et &,
JOR ? |

The Balance-Sheet of P Q & R sharing profits and losses in the ratio of 2:2:1
2013 is as follows:

@1 foeer f

ason 31 Mar,

Liability Rs. Assets Rs.
oFER  (Creditors) 30000 JBS (Cash) 3,300
TSl (Capital)
P 60,000 §% (Bank) 12,50
Q 60,000 150,000 | 3R (Debtor) 25,20
R 30,000
X (Stock) 30,00
w]_&; Wﬁﬁﬁ 1,09,000
(Fixed Assets)
1,80,000 1,80,000
1 30el 2017 ¥ 9 Foly @ § % 398 dra - aua den s [ e e
ARV | B4 B o Yl o 150000 | fH WEER B GH F B BN W e IR o
gl 3R Goft # ofoRem < W TR AN fpar se | Swe B Ree ax)y B R e

yfafeat #ifig |

(From 1 April 2017, they decide that profit sharing ratio among them and their capital

should be equal. The total capital of the firm is to remain to Rs. 150000. Any
the capital of a partner is to be brought in cash. Pass journal entries to record

31 |74, 2017 BT Iyl fo10 & U 4,000 12 UL F09H TAE T 100 1T T

deficiency in
he above.)

H @ forg ared

g | VT A U W T 9 b ST € e g e 7 9 4,00,000 & 1 FOTOH

S WA ¥ Gafd oHel gfafkedt & |

Apolo Ltd. had 4,000 12% debentures of Rs. 100 each due for redemption rn 31 March,

2017. Assuming the debentures were redeemed out of profit. There was a
4.00,000 in surplus i.e., balance in profit & Loss.
Pass necessary journal entries for redemption of debentures.

A T4 B WIHER € G AW G T B dCaRT 21 B AT H BRd 8| C Al

alance of Rs.

¥ 1/4

W @
for e @R ¥1 ¢ w0 30000 Yo @ @Y A T B A G Ao o ¥ e

At C @ W W gd 31 R, 2017 B A G B 77 31 Riear 56 WK |

A and B are partners in a firm sharing profits and losses in the ratio of 2:1.
into the firm with 1/4™ share in profits. C will bring in Rs. 30,000 as his ¢
capital of A & B are to be adjusted in the profit sharing ratio. The Balance —
as on 31 Dec. 2017 (Before c¢,s admission) was as follows :

; yc

|IC 1s admitted
apital and the
Sheet of A+B




Balance-Sheet
as on 31 Dec. 2017

Liability Amount Assets
Rs.
SR (Creditors) 8000 | IHS (Cash)
< fqUz (Bill Payable) 4000 | §& (Bank)
MR g (General Reserve) 6000 | fafger TR (Sundry Debtors)
ISl (Capital) WIH (Stock)
A 52,000 JUXDX (Furniture)
B 32,000 82000 | I (Machinery)
|| |9 (Building)
100,000 |
I8 eHfd §§ f& (It was agreed that:)

(i) C 0 12,000 T H 3G ¥R of M| (C will bring in Rs. 12,000 as hi

premium)

Amount

2000
10,000
8000
10000
5000
25000
40000
100,000

share of

(ii) Wa BT Ho¥ T0 45,000 TAT AR 0 23,000 & | (Building were valued af Rs. 45,000

and Machinery of Rs. 23,000)

(iil) TSR W 6 U9 & X F [l FKUN W YIaEH §9R-1 | (A provision fof doubtful

debts is to be created @ 6 % on Debtor)
(iv) ATd B® iﬁﬁ Qral @ ﬂl’ei@l?f ¥ FHRTT @ | (The capital of A & B

adjusted by opening current Accounts)

AMALIH ooR WT TN T8 WH a1 e faeer TR a |

are to be

(Record necessary journal entrics, show necessary Ledger Accounts and prefare Balance —

sheet of the new firm.)

S fot. @ afrgpd Sl w0 50,00000 & TN FO 200 YAS & 25,000 3 H
HHHE 7 /0 200 TS B 12,000 I BT 10 UfAwd Nw w® A |
THR < oY

3M9e TR 0 60, Aded W w0 60 (Hifaw wfled)

Yo AT W W0 30 Tl SifaH AT R I SRR ST | 14,000 3 B f
|l JIRT FATGT W B TS | T WA |

Tl A 8
gfer 3

U ICES R

(The authorised capital of 5 Ltd. is Rs. 50,00,000 divided into 25,000 shares of Rs. 200

each. Out of these, the company issued 12000 shares of Rs. 200 each at
10%. The amount per share was payable as follows :

Rs. 60 on application, 60 on allotment (including premium)

Rs. 30 on first call and balance of final call.

Public applied for 11,000 shares. All the money was duly received.

Pass Journal Entries.

Part—-B
TRATfad ST Bl B b Ry faaRor § e & i femar S

(Proposed dividend is shown in the Balance-sheet of a company under the h
(1) BT FTaT (Short-term provision) (ii) ddd Ud DY (Reserves & S
(iii) dle] € R (Current Lizbilities) (iv) Y SRS (Other liabilities)

5

e

a premium of

ad)

lus)




19 U& Bl B R FERATN W0 400000 W FHT WO 500000 B TS | 3 e W @1 aRac

20

21

22

ga ?

(Tangible assets of a company increased from Rs. 400000 to Rs. 500000. What is the

percentage (%) of change)
(i) 20 % (ii) 25 % Gii)33 1/3 (iv) 50 %

freferad 7l & & & anfie fucer # oy fom et & ararfa fewri ?

( Under what headings will you show the following items in the Balance-Shegt of the

company)

(i) 3T AT (Unclaimed Dividend) (ii) KU UF (Debentures)

(iii) &l 0 §T 37 (Fos feited for Tax) (iv) BR @ folT UG (Provision
[T 3T & T N —

(i) TR U (i) el oM AU (iii) FeO—HAT U
FaTe A 3T /0 4,00,000, YRR W&faar w0 10,000 3ifaw vafoar RS

fbr Tax)

d W0 3000

&, g Y IFeTC | I FI 80 Hewd, Yede I 50 20,000, AT FHfcrt w0 100000, Yded

Y R0 3000 Te], STMAcT WO 6000, 9 VTEIT VTG F0 400000, & | Creadrei
150,000, T 37 Yoft w0 800000, 8 fererd YaifEraR 37T Yol w0 300000

From the following informations calculate :

91) Liquid Ratio (ii) Gross Profit ratio (iii) Debt to equity ratio.

Revenue from operation Rs. 400000, Opening inventory Rs. 10000, Closing
3000 less than opening inventory, Net purchases 80% of Revenue from ope

Expenses Rs. 20000. Current Assets Rs. 100000, Prepaid expenses Rs. 3000,

X0

ventory Rs.
tion, Direct
current

liabilities Rs. 60000, 9% Debentures Rs. 400000. Long term Loan from BanK Rs. 150000,

Equity share capital Rs. 800000, 8% preference share capital Rs. 300000.
ST U o0 @1 31 A 2017 T 2018 @ o faes fFferfad € -

(The Balance- sheet of Jagran Paper Ltd. as at 31 Mar. 2017 and 2018 are giyen below :
Particulars Note 31.03.2017  31.03.2018
No.
1. T Ud ST (Equity and Liabilities)
1. RS T (Share holders fund)
(a) Shaare Capital 600000 720000
(b) Reserve and surplus : 375000 180000
(i) Statement of profit & loss
2. 3T U U (Non Current Liabilities)
Long term Borrourings 450000 p70000
Debentures.
3. dq] GIAY (Current Liabilities) | 90000 12000
Trade Payables
T (Total) 15,15,000  15,90,000
73
; o,




1. UREFRET (Assets)

1. 3el YRFHRMAT (Non-current Assets)
(i) Land !
(ii) Plant

Accumulated Depreciation
2. I1e] URFAIRHL, (Current Assets)
Inventories |

Trade Receivables
Cash & Cash Equivalents

@l (Total)

a§ & IR 0 75000 B AT FT A fbaT AT
(Dividend of Rs. 75000 have been paid during the year)
B JaT8 IR0 IR & | (Prepare Cash flow statement)

300000 2400000
600000 50000
(180000) (240000)
4200000 60000
225000 00000
150000 80000
1|5,90,000

15,15,000

‘\“




